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What is the difference between

1 | 4795+ 3= 2 | -12°C and 24°C?

% %

1 mark 1 mark

Put a tick if this is the net of a Write the number three million
3 | cube. Put a cross if not. 4 | and four.

%

1 mark 1 mark

How many pounds are there in 5 What is 8924 rounded to the
5 | kilograms? 6 | nearest thousand?

% %

1 mark 1 mark

How many millilitres are there in What is the perimeter of this
7 | 6 litres? 8 | composite rectilinear shape?

%

1 mark 1 mark

Which number is the largest?

9 Calculate the area of this shape. 10 | 2.033 or 2.30
19cm
cm 9cm

Not to Scale @

1 mark 1 mark
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What is the volume of this

Estimate the size of angle f.

11 | cuboid? 12
N\\S5
ﬁ 1 mark 1 mark
Calculate the size of the missing Is this shape reaular or irreaular?
13 | angle in the shape below. 14 pe regu gular:
d 146°
136° @
1 mark 1 mark
Round the number 4.56 to one Using the space below, draw an
15 | decimal place. 16 | angle that measures 88 degrees.
ﬁ 1 mark 1 mark
How much does a baby weigh Draw the reflection of this shape
17 | after 11 months? 18 | in the mirror line.
|
I
I
I
I
I
(kg) I
I
I
I
I
I
I
1 mark 1 1 mark
_ How long does it take the 10:11
19 2090 x 15 = 20 | service to reach Aldenham?

%

1 mark

Wembley 10:00 | 10:30 | 12:45
Brent Park 10:11 | 10:41 | 12:56
The Hyde 10:25 | 10:65 | 1:10
Edgeware 10:37 | 11:07 | 122
Aldenham 10:51 | 11:21 1:56

%

1 mark
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